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131 +8x2-109 = 38

@131+(8x2)—109:38
@ 1314 (8x2-109) = 38
® (131+8)x2-109 = 38
@ (131 +8) x (2-109) = 38

® 1314 8x (2-109) = 38
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48 -5x11-74+2=30

@® 48— (5x11)-7+2=30 @48-5x(11—7)+2:30
® (48-5)x11-742=30 @ 48-(5x11-7)+2=230

® 48-5x11—(742) =30
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250 X 8 + (250 X 6 + 300) X 3
= 250 x 8 + (1500 + 300) x 3
— 250 x 8 + 1800 X 3

= 2000 + 5400

= 7400 (9)
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{124+ (12-4)} x 2
=(12+8) x2=20x2 = 40(A)
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(7T4x4-16x7) + 23 = (296 — 112) + 23
= 184 + 23 = 8(A})
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= {10000 — (150 x 4 + 7400)} + 8

= {10000 — (600 + 7400)} + 8

= (10000 — 8000) + 8

=250(9)




